Download Tech Of World App ~ WtsApp/Call- 8596976190

€ B & )

o

OTET P-1 EXAM QUESTION BANK (SUBJECT WISE & OTET P-2 EXAM QUESTION BANK (SUBJECT WISE &
SHIFT WISE PREVIOUS YEAR QUESTIONS & ANSWER SHIFT WISE PREVIOUS YEAR QUESTIONS & ANSWER
2021 To 2013) 2021 To 2013)
¥100-00 ¥79.00 ¥100:00 ¥79.00
Demo Pdf (OTET PAPER-1)- Download Demo Pdf (OTET PAPER-2)- Download
Validity- 1 Year... Validity- 1 Year...

more

ADD TO CART

ADD TO CART

JoinUs-' > f



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App

No, of Printed Pages : 64

No. of Questions : 150

LIo0&
Question Booklet No.

OTET

201311

SET-B

PAPER -1

Time : 2 Hrs. 30 Minutes

Full Marks : 150

]
el sol Techofworld.in
L]
PeWdlIm INSTRUCTIONS
¢l Q9 FERNITRQ LOIR QW O | I. Read the instructions carefully.
91 geIsigica giEq ende (2aa1) | 98 ead Z '[I'hl(.i zujn'u.'a‘s.'ti(mr to the (f:lxalmtnalmrp 1 pr}:n(szsbinr:;l
L)oo 2 . ; - n the event of any information furnished by the
EK’“;SE” 2 W‘Q pgefuacmgg GQ&MG',@& i, candidate found false/in-correct/incomplete or
el @Rl TLAE gAlae {4, 606Q@ YiaNg KIee illegiblg detected at any stage, the candidature
ERIRAQ | shall be rejected.
QOB 60Q QI G699 98 6 QIGLIPIR Og @°6a | 3. Please bring the admit card and the acknowledge-
2169 | IRIBI YL6R 2INH:Q W6R NTIQ QOA0R ment card for admission to the examination and
produce the same as and when required
o | . el . 4. Please put your full signature in the dcsgripllvc
¥l QUUIR JU6R FAISPE HCea fa Q4 Q98e roll-sheet in presence of the invigilator.,
Paq | 5. Darken thé circles in the OMR Sheets
81 6.97.2IQ. TWHEQ S 9RQ PRI PRl FIRALTR IR completely with Blue / Black ball point pen only.
g94 P06 q%q'j qea @Q]/Q‘IQ QQQ I 6. WrItL'd }(fj()ur Roll "'No. C()rri:c{]y in the space
= e 5 provided.
s QE\Q SEUR f@ﬂla? SO C?‘QWGQ Gﬁlﬁfil 7. Do not open this Booklet until instructed.
91 Nugque Q@QI‘G"?GQG fuliEQ Q9 Q_G?'iﬂa W8 Do not take any other materials to the examina-
Il 60eR XA B 600 Q016 A~ 6X16T dR8 QIS tion hall other than pen and pencil.
QL Goag & . Calculaters, Shde
- ==Techofworld.in ==
] <

6AIQIaM 6T
qee 60Ql &

Ro| 0% Q99I6Q ¢

QIE PRR2G
QY QURER |
Q18 A8 Qe

EE| Gﬂ&ﬁ OQ‘!G)IUI‘_‘ DI ODIT O WYYy Wwira

Qe 81§ 99I1Q 29ne fzkerid |

R9| BG4I 0QIBI ORQIPM 2IAR, eI T 2GLIEa OB

qe6a Rl AYLIQ 629 |

e9ll QRIBI FAN K P6R, QI RIS BRI |
°Yl URIBIA 668 90 ARG AuUER OQIBIEINIER

6410190Q QIRAIR6S A1F |

e8] NS YU QR0 6091060 QIR IR 8.497.2I8.]

Q010 OUQ RARICIER QB €@ PP QIYER 6769,
Q% 690219, TERQ PaIseq 2960 086G |

13.

14.

15.

1 pages, Questions

any discrepancy,

minutes and there-
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1ination is over,

in the examinauon
hall as per the Udisha Conduct of Examination
Act, 1988,
The candidature is liable for rejection 1n the
event of any infringement of the instructions
mentioned above.
The candidates arc not allowed to go 1o toilet
during the last twenty minutes of the examunation
The 2nd part of the carbonless OMR sheet
should be carefully detached and taken away by
the candidate after answering all the questions
The original OMR Shecet must be handed over to
the invigilator.
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Which one is applicable for
Child-centred education ?

(A) Learning is donc in the
absence of the teacher
Teacher teaches with the
help of teaching aids
Teacher acts as a facilitator
of learning

Teacher directs the pupils to
do the home work and come
to class

Which of the following statements
is not applicable for multigrade
teaching ?

(A) Teacher should prepare a
plan before going to the
class

There are less number of
teacher in the school than
number of classes

Teacher will give task to one
class and teach in the other
Teacher will give task to both
the classes and maintain
discipline and sitting at a
central place

Who is a learncr with-special
needs ?

(A) One who is different from
his peers in physical and
mental point of view
Diffe.renl from his peers in
emotional and social point of
view

Different from his peers In
Pedagogic point of view
(D) All of the above

(B)
(©)

(D)

(B)

(©)
(D)

(B)

(©)
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Who was the propounder of

the ‘Kindergarten’ system of

education ?

(A) Froebel

(B) Montessorie

(C) Rousseau

(D) John Dewy

Why does a teacher ask a few

introductory questions before

teaching a topic?

(A) To maintain discipline

(B) Toimpress about the difficulty
of the topic

(C) Testing previous knowledge
(D) All of the above

Which one of the following is

not an objective of achievement

testing ?

(A) To know to what extent learn-
ing objectives fixed by the
teacher have become fruitful

(B) To know to what extent the
educand has understood the
subject-matter

(C) To know if the pupil has
acquired the proficiency for
class promotion

(D) To know if the pupil will be
benefitted from a given train-
ing programme
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10.

What is not there in a bluc-print
prepared for construction of unit
test ?
(A) Method of valuation of the
answers

Relative weightage to the
topics taught

Relative weightage to the
instructional objectives -
Weightage to the different
form of questions

(B)
(©)
(D)

Which one is not necessary for
continuous and comprehensive
cvaluation ?

(A) Rating scale

(B) Check list

(C) Progress card

(D) Questionnaire

What type of testing is necessary
to assess learning difficulties ?
(A) Achievement testing

(B) Aptitude testing

(C) Diagnostic testing

(D) Unit testing

Which one of the following is
not applicable for e¢ssay type
question ?

(A) Question preparation 18
casier

All the learning objectives
can be measured

Thinking ability and depth of
knowledge can be measured

(D) Conduct of examination i
easicr

(B)
(€)
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11, ﬁﬂﬁwa@ FIQ 60LF IRRIINGIR gew | 11.  Which one of the following is not
QEE ? an indicator of creativity ?
(A) QI 98¢ (A) Divergent thinking
(B) Q@9 oge (B) Convergent thinking
(C) 6alpael (C) Originality
(D) eax1gel (D) Flexibility
12. 59d< dQ1BE QIal @68 gBaIRIR 12. By what type of testing, a gifted
dleg 0% AIRQ ? child can be identified ?
(A) BARIND QIS (A) Diagnostic testing
(B) 9o@ aoigé (B) Unittesting
(C) 9F aaigd (C) Intelligence testing
(D) QIfely aNaE (D) Aptitude testing

13. 60180 geaidi 5afe aee @6a 1 @eq | 13. Mohit does his homework
6R60R 2IF GERI QIR T2UIYIRSM | regularly. Oneday he was given
COIRQ €T 2T TARIR Q8 694 some mathematical problems. He

51086 62al 6 QaSE 2I6Eg AR successfully solved one problem
and was encouraged to solve the

QoTRRR e S P Icha Siow next problem. Which of the
PaAg Yolag ? following learning laws does it
indicate ?

(A) 2R @
(A) Law of imitation

(B{ i Vi (B) Law of motivation
(C) zawatan (C) Law of practice
(D) aRIae o (D) Law of effect
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14, Which of the following 1s

different from the other three
instructional objectives point of
view ? '

(A) Discussion
(B) Illustration
(C) Description
(D) Identification

What should a teacher do to
reduce individual differences in
learning ?

(A)
(B)

Use of ﬂeijle Text-book

Special attention on slow
learners

Provide facilities to the
slow learners to learn at their
own pace

(€)

(D) All of the above

Which factor influences develop-
ment of the child ?

(A) Heredity only
(B)

(C)

Environment only

Both heredity and environ-
ment

(D) Maturity
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What is the psychological mean-

ing of learning ?

(A) Acquisition of knowledge

(B) Studying books

(C') Modification of behaviour

(D) Problem solving

What does a convex learning

curve indicate ?

(A) At the initial stage, learning
rate is high and gradually it
decrecascs

(B) At the initial stage, learning

rate 1s slow and gradually it

Inereascs

(©)

(D)

Learning rate is constant
Sudden increase in learning
rate

Which one is a sub-law of ‘law
of practice’ ?

(A) Law of effect

(B) Law of disuse

(C) Law of set

(D) Law of selective response
Which one is not an example of
extrinsic motivation ?

(A) Praise

(B) Prize

(©) Recognition

(D) Interest
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Which one is considered to be
the base of all developments of
the child ?

(A) Moral
(B) Mental
(C) Physical
(D) Emotional

Which one of the following is not
a method of studying behaviour
of educands ?

(A) Frec observation

(B) Interview

(C) Testing

(D) Discussion with parents

Which one is not an emotion of
early childhood ?

(A) Curiosity
(B) Anger
(C) Imitation

(D) Sorrow
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24, _%‘@@a VIR NF6Q 6D ASAIGR® | 24. What is the order of occurrence
60Q QEIEQ 6 ? of the following events in the
() 999 6@ language development of a child ?
. ) 1)  Babbling
/ (1) 221Q e (--) l ‘mg
/ (1)  Meaningless sound

i) QINTIR} QQ R "
(m) Q8 4 (1) Sound consisting two words

(Iv) QIR4Ie /<l (iv) Speaking part sentences
{A) (i1), (1), (iii), (iv) (A) (i), (i), (iii), (iv)
(B) (1), (i1), (iii), (iv) (B) (i), (ii), (iii), (iv)
(C) (), (iii), (iv), (ii) (C) (), (i), (iv), (ii)
(D) (i), (iv), (i), (iii) (D) (1), (iv), (i1), (iii)

25. @98 QB3I A)IQ 62a0 oK ? 25. Which one of the following
statements 1s correct ?

(A) Q99! 66aea 97 ARI6Q 9L (A) Increase in height and weight
refer to development

(B) 9, 3QI8 QU6a 7610 963 (B) Growth depends on develop-
ment

(C) @ aBnIaIng AIgERIE IR (C) Growth is quantitative but

development is qualitative
(D) Development stops at

(D) Q6 IAFRER Q@ 99 '
maturation

26. 396 QIR ABR 2GR N6UQ geB! | 26. Who is the propounder of the

@q ? theory of instrumental condition-
ing for learning ?

(A) QIOme
(A) Pavlov

W) R (B) Thorndike

(C) Feeq (C) Lewin

@D Gea (D) Skinner
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Which technique is more effect;ye
at the primary stage for teachin
the environmental science ?

(A) Observation

(B)
(C) Discovery based

Discussion

(D) Memory based

Which learning is not dependent
on motor skill ?

(A) Drawing
(B) Singing
(C) Cycling
(D) Typewriting

A child seeing other children
crying started himself/herself
crying. What type of activity isit?

(A) Unconscilous imitation

(B) Deliberate imitation
(C) Sympathetic imitation
(D) ldeo-motor imitation

What type of evaluation is B.Ed
entrance Test ?

(A) Placement
(B) Summatiye
(C) Diagnos_;[ic

(D) Formative
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Answer the following questions choosing the correct alternatives given
(Q. No. 61 to 70) :

61.

63.

64.

65.

Wh —— . .
en young learners seem to lose interest in a lesson, the teacher should -

(A) allow them to g0 out and play

(B) ask them to sleep for a while

(€©) tell thema story

(D) ask them to sit quietly for sometime

The instructional objectives are written in action verbs, because they can
be

(A) tested (B) read with clarity
(C). understood property | (D) conceptualized
Which among the following is not an assessment tool ?
(A) observation (B) checklist
(C) rating scale Py sclf-assessment

When should a teacher design activities for a lesson ?

(A) After selecting the method

(BY "~ After formulation of instructional objectives
(C) After reading the lesson
(D) After collecting TLM
Which is the receptive skill ofa languagf: ?
(A) Listening and reading

(B) Understanding and speaking

(C) Speaking and writing

(D) Understanding and writing
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66. Which theory of language Jearning has

67.

68.

69.

70.

found “Knowledge of internal

rs 7
processes” crucial to the understanding of learne

(AY” The cognitive theory

(B) Stimulus - Response theory

(C) Operant conditioning theory

(D) The classical conditioning theory

Writingis ________ representation of speech.
(A) Morphological (B) Linguistical
(C)” Graphical (D) Phonetical

Learning of English in India as a second language has been so important

and inevitable since _______

(A) Englishis a foreign language

(B) People speaking English are highly honoured
(C) Indiais a multilingual country

(®) Englishisa link and international language

The alphabetic mcthod the phonic method, the word method and the
sentence method .are associated with

(A) Listening (B) . Speaking
(C) Reading ~ (D) Writing
In order to assess the all round development of a learner, the teacher has to

take the help of -

(A) Unitend evaluation

(B) Term end evaluation
(‘G)/Continuous and comprehensive eva

luation |
(D) Month end evaluation
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Read the passage carefully and answer the following five questions
(No. 71 to No. 75) choosing the correct alternatives given :

A hundred years ago, people wondered why one should be concerned
about the tiger. The tiger population was quite large and thick and
widespeard forest cover provided a natural habitat for the animal. But,
over the years poaching and increasing encrochment on tiger’s habitat
have caused the tiger population to decline alarmingly in India. To ensurc
its survival, the Indian Government has placed the tiger in the endangered
species list, and also declared it as India’s National Animal.

A hundred years ago, people were . —

(A) very much concerned about the tiger

(B) not bothered about the tiger population

(C) fond of hunting tigers for pleasure

(D) afraid of tigers .

The population of the tiger was large at that time, because -

(A) there was enough forest cover for them

(B) people left them undisturbed

(C) people did not hunt them so much

(D) the forest provided natural and easy food for them

The tiger population has come down today because of

(A) declining health of tigers

(B) because of their lack of fertility

(C) insufficient availability of food for them

N'/)/) killing of tigers and deforestation

The Government has placed the tiger in the endangered species list

(A) to attract tourists

(B) to make poaching of tigers difficult ’
(CX to censure that tigers do not become extinct

(D) to increase the population of tigers

P Turn Avissa
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75. The word “poaching’ use«

(A)” hunting illegally (B) hunting for pleasure

(C) hunting for trading (D) hunting legally

Read the given passage below and answer the following five
questions (No. 76 to No. 80) that follow by selecting the most
appropriate option :

Rain is very useful for crops. If rain fails, the crops won’t grow. If crops
don’t grow, the people will starve. |

Dark clouds bring the rain. Do you know how these black clouds_are
formed ? You have seen water boiling in a kettle and vapours rising from
boiling water when water is heated. It changes into water vapour. This
changing of water into water vapour is called evaporation.

The sun shines over the oceans, the rivers and the lakes during the day.
The water is heated by the heat of the Sun. The water vapours are formed
which are lighter than air and they rise up. Then vapours join together and
they form clouds.

As the vapour rises high, they get cooled. As tﬁéy cool down, they change
into water again. These drops of water fall on earth as rain.

76. Clouds that are carry maximum rain.
(A). veryTow (B dark
(C) thick (D) white

77. The word ‘evaporation’ means
(A) Water is cooled down
(B) Water is heated
(C) The sunis high in the sky

Water is changed into vapouyr
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78. Water vapours risc up as they are lighter than
(A) clouds (3) air
(C) water (D) rain
79. Vapours turn into water drops when
(A) heated
tB) cooled
(C) enters into atmosphere
(D) when the sun is high in the sky
80. The opposite of the word ‘lighter’ is
(A) brighter h (B) thicker
(C) thinner D) heavier

Questions from 81 to 90 have four possible answers each. Choose
the most appropriate one.

81. A pair of spectacles .. lying on the table.
(AY is (B) are
(C) have (D) has
82. IfMalfy ————— him, she would be delighted.
(A) had seen (B) sees
(C) saw (D) has seen
83. Our examination - on Monday next.
(A) is starting | (3) starts
(C) will start (D) will be starting
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84. My parents went to Rourkeia ————— @ car-
A “in (B) on
(C) by (D) through
85. One of my friends _ attended the meeting.
(A) have (B) have been
(©) has (D) has been

86. Honour your parents.

Here ‘honour’ isa/an —

(A) adjective - B) verb
(C) noun - (D) adverb
87. AtPuri____ onpe quite rough.
(A) sea (B) aseca
(€) the sea | (D) seas
88. We_____ - onfhBs platform since three o’clock.
(A) waited ; (B) have been waiting
(C) are waiting (D) were waiting

WS R

89. Which of the following is grammatically correct ?
|

(A) Alas ! my friend is dead (B) Alas! my friend is dead !
7 (C) Alas, — my friend is dead -
90. He wanted

|
(D) Alas, my friend js dead 7
(A) me to speak in the meeting
(B) me speaking in the meeting

(C) that I should speak in the meeting

s

(D) me that I should be speaking in the meeting

Fal nlas ol L o)
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91.

92

93.

A student constructing differen
types of quadrilaterals and mea:
suring their angles came to the
conclusion that the sum of the
angles of a quadrilateral is 360°,
What method of learning does it
indicate ?

(A) Inductive
(B) Deductive
(C) Analytic
(D) Synthetic

Which is not an objective type of
question ?

(A) Restricted answer type
(B) Completion type

(C) True-false type

(D) Matching type

Which one of the following
objectives of learning Mathematics
is an affective objective ?

(A) Acquiring knowledge of

Mathematical facts
Applying Mathematical
knowledge in new situation

(B)

Developing interest in
Mathematical learning

©)

(D) Developing skill in interpret-

ing graph
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project Method of teaching
Mathematics 1s based on the
theory of which Philosopher ?
(A) JohnDewy

(B) Kil Patrik

(C) Stevenson

(D) Froebel

What teaching method is mainly
used for proving a geometrical
theorem ?

(A) Synthetic

(B) Analytic

(C) Both Synthetic and Analytic
(D) None of these

A solid sphere was cut into two
hemispheres. What is the ratio
between the total surface area of
both the hemispheres taken
together and the surface area of
the original sphere ?

(A) 1:2

B) 2:1

(C) 2:3

(2 3212

What kind of figure represents the
data in a pie-chart 9

(A) Segment

(B) Sector

(C) Semi-circle
(D) Chord
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(A) 35
(B) 20
(C) 10

D) S

1998 1999 2000 2001 2002

a6e od

QUEAIB ENGISG 21gQI1 2001 AJQIR
QIR 1998 1JLIQ AQITROIQ 64!

6R6G 2R 7
(A) 150
(B) 100

(€ 50

(D) 25
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Banana |Orange [Mango |Apple |Straw-
berries
10 25 35 30 15

In the above table some kinds of
fruits and their numbers are given.
To draw a pictograph for the data
how many fruits in maximum can
be taken as unit to make the work
convenient ?

(A) 35
(B) 20
(€) 10
D) 5

Production (in tons)
— e b I Ll
(=17 =3V 1=1V]
(=l=l=la]]-1

1998 1999 2000 2001
Year

2002

As per the above graph produc-
tion in the year 2001 is more than
the production in 1998 by what
per cent ?

(A) 150
(B) 100

(0) 50

(D) 25
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lbO. Taken Figure-I as the sample

& Ba- 69 698 )
KB E‘alglaa@! o4 ;E;E:[G%@v ae! which No. can be placed in the
B i blank space of Figure-II ?
Qe ?
20 20
20
1585 (30| [25]50 20 15185 | 30] [ 2040
25 15 | 25 13
5e-1 og-1I Fig-1 Fier®h
(A) 15 (A) 15
(B) 20 (B) 20
(C) 25 (C) 25
101. 686 §a¢l Qlel ‘@it 068G a2 edier| 101. Which of the following is
Q086 ges 7 not associated with activity
based learning approach of
(A) g6eiR d91g1 AR Q23 Mathematics ?
- . (A) Each learner remains active
(B) gecua @8!&1 @Idigrica a°4 (B) Each learner participates in
g2¢l /ey | the activity
(C) geayaaRIgN 2IRe QAERIT Q6@ (C) Each learner enjoys pleasure
9 ‘ (D) The teacher’s workload is
(D) J8esa QIdiaa 919 aIge reduced
102. 69(13: 6;896@ 9@ Q6que 980 Maaiq | 102. ixnall'lytig metbod 1S used by the
@B | CZE‘;; Seg In which of the following
B e . .
(&) 2RIGQ RIGQ FVIQIQ QI (A) To teach knbwa' from
(B) @8%Iq 253I8a galg aig ®) }l‘,“known
O establish conelysi
(C) PEIKIRYN AGYQ AV QI © hYPOthesis clusion from
— resentation of known
D) 9AIeE g 602 Q6e own fact
( ) Q Q (D) None of the abOVe ;
SET-B racs
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Qg I9F L

WtsApp/Call- 8596976190

103. In an examination some students

3 4

7
. el RSP
answered stT 0 How can

this type of errors be eleminated
by teaching ?

(A) Teaching the role of numera-
tor and denominator

(B) Addition,of fractions having
equal denominators

(C) Teaching to find L.C.M. of
numbers

(D) All of the above method

. For identifying numbers on the

number line, the learners should

have knowledge of which of the

following ?

(A) Knowledge about the number
line

(B) Taking the origin on the
number line

(C) Positive and negative direc-
tions on the number line

(D) All of the above

. In which of the following cases

use of Mathematics text-book is

not required ?

(A) Self-learning of learners

(B) Drawing blue-print for
preparing mathematics
question paper

(C) Lesson planning by teachers

(D) Correlating Mathematics
teaching with other subjects

rA7 (Turn over)
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106. 696N 2INQ 9T 69IE 626 IGL@

107.

108.

3
5 281 Q% 26 a1Ina 9gg 900 gi1l

P4, 6069 35 643 9° 4% 2192 999

A8 6960 gIF| ? ¥ @
(A) 2100 R “4:.3\
* ‘"‘)
(B) 2550 L5
\&
() 2700
(D) 3825
601G AAARFIA 6SINFER VG

QIS YESUR QIR 62y 2 § 626m
\92I6Q 2T 69416 6966 MeR QIS
2R ?

(A) 4000

(B) 6000

(€) 8000

(D) 10000

265119 696Q 666N Q0GR IRE 2190
0569 9REe FALIAT | 9T NGO

QRTQ 0RQIAIQ AN] 54 6Q.51. g9,
6069 QOI0EoR JRQIAI 6966 6Q.81. ?

(A) 40
(B) 36
(C) 32

(D) 28
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107.

108.

3

The mass of a mango 1S 5
of the mass of an apple. If the
mass of two mangoes is 900 g,
then what is the mass in gm of
3 apples and 4 mangoes taken
together ?
(A) 2100
(B) 2550
(C) 2700
(D) 3825

The length of each of the internal
sides of an open tank is 2m.

* What is the maximum volume of

water in litre it can hold ?
(A) 4000
(B) 6000
(C) 8000
(D) 10000

[n the given figure below a squart
has been divided into two
rectangles. If the sum of the
perimeters of the two rectangle
18 54 cm, what is the perimeter of
the square in cm 92 :

(A) 40 .

(B) 36 Ké\f 3
(LY 32 J
(D) 28

WtsApp/Call- 8596976190


https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

109.

110.

111.

Download Tech Of World App

SOIIEN 21066850 6q1Ey QAR 63y
5919219 o4 QACQ 2 QTG
eg@m 169 Q4 & ggen AIAE/GR
JeQ1l 6060 Figq 2

(A) 36
(B) 50
(Cy 34

(D) 30

12 fgQ @, 9 dea ga 6 8 deq
QFC! THY IR 6RI0NER ANNYD 6969
0Q ANA YR QI ALAIR ?

(A) 12¢cQ
(B)

(Cy 17 @

13 fieQ

(D) 29 fiee

<Od CaEoId Brae Gde Qe 28
QIgIQ ASYReR AN 9 N&° ALY
BREI GR6A ERFEM AEIC TUEE

Q@ ?
(A) 18
B) 9

€) 8

JoinUs-' > &f
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109. The length of one of the sides of

110.

1L,

a rectangle is 5 metre. If the area
of the square constructed on its
diagonal is 169 sq. cm., then what
i the perimeter of the rectangle
in metre ?

(A) 36 ?‘(//\’
(B) 50
(C) 34
(D) 30

What is the maximum length of a
straight rod which can be kept in
aroom of length 12 metre, breadh
9 metre and height 8 metre ?

(A) 12m
(B) 13m
(C) 17m
D) 29m

How many three digit numbers
are there in which the sum of the
digits is 9 and the number doesn’t
change on writing the digits in the
reverse order ?

(A) 18 Lo -
9 q ") % 5% /

(B) R )

) 8 (X2

(D) 4
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112. 987 Q ERIGA60 3 § 6TFIE Gl SIm6M
6699 689 A°HYI QLR ?

() 0
(B) 1

(©)

o

(D) 3

[13. Q@8 Q°gyiq 2AQAIG 5:6 9Q°

6AAINER 6.41.G. 4 | 6569 CARIRER
Q.QIg. 6960 ?

(A) 90
(B) 100
€y 120
(D) 150
9% 69115 alao'@@a 6%aY 20%

@@ 8 g8 20% X191 6569 QIRIQ
EAQTR F10R%| 6R6L LI Q @A ?

114.

(A) 4% Q@9
(\]})/40/0“9(?‘1@
(C) 1%ege

(D) 1% @

Join Us-' > f
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3.
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If 3 is subtracted successively

from 987, then what will be the

last number left ?
(A) 0
(B) 1
(ci 2

@) 3

Two numbers are in the ratio 5: 6
and their H.C.E. is 4. What is their

L.CM.?
(A) 90
(B) 100

(C) 120

DJ 150

?f the length of a rectangle is
increased by 20% and its breadh

is decreased by 20%, then by

what per cent wil] itg area increase

or decrease ? v
, -
(A) 4% increase g i
n Y
(B) 4% dCCl’Cﬁse N .r? 3

(C)Y 1% increase

(D) 1% dCCI‘Case
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034 4+ 034¢ IR 6960 2
(A) 0.6788 “ Q)
9% ) 24 ‘v
(B) 0.689 Db
(C) 0.6878
(D) 0.687
QIQ *RLGI 560 8.5.1 Qe 9@
70 @.8. 6996Q 98 Q2 6aIE\
680 9919 9.30 a.m. 8IGRI | QIFEQ
6FARNNATEQ 67116 QS 29 2 Q.
20 0106 6RIRYUER 6TRT 6REEERER
PRRCIEQ LB ?
G
Y
(A) 6.50 a.m. X0
¢
(B) 6.50 p.m. o
A
(C) 7.50 a.m.
(B 7.50 p.m.
398 69% 68g6a L ABC @ 00Qe®

6RI6Q 2Q9eQ 6al6 ARSI QAR
Q6% ?

(AY 0°<m ZABC < 80° A

¥4

(B) 90° <mZABC < 115°
(&) 100° < mZABC < 130°

M 120° <mZABC < 160°

Join Us-' > f
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I15. Whatis the value of 0.34 -+ 0.33 ?

116.

L%,

(A) 0.6788
(B) 0.689
(C) 0.6878

(D) 0.687

The distance between Puri and
Kolkata is 560 km. A train run-
ning at a speed of 70 km per hour,
left Puri at 9.30 a.m. If it stopped
at stations on the way for 2 hours
and 30 minutes in total then at what
time did it reach Kolkata ?

(A) 6.50 a.m.
(B) 6.50 p.m.
(C) 7.50 a.m.
(D) 7.50 p.m.

[n which of the following cases it
is not possible to get the comple-
mentary of the supplementary

angle of ZABC ?

(A) 0°<mZABC < 80°
(B) 90°<mZABC < 115°
(C) 100°<mZABC < 130°
(D) 120°<mZABC < 160°
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| | ™ S B H S B W W S B H Sl E N 'I I ‘s below w}lat l.S
118. B6qI8 56 LA, /B, £C, £D, |118. Inthe given figure s
LE. /F = iy o the sum of the measurcs in degree
=8 Q AAAIdQ AN} 6 ” 9
@@1? Of.ZAséB!éC’ ZD’ZE’ AF.
' A
(A) 300 A (A) 300
y ~
7. B
(B) 180 F B (B) 180 -
(C) 72 E C (C) -72 E _ 4
(D) 360 D (D) 360 t
119. ABCD Qif13@e §g6@ mZA : |119. In the parallelogram ABCD if
mZB=3:2,606em/C-m/D m/A :m/B=3:2,then what s
= ? m/C-m/ZD=___7
(A) 1I° A) 1°
(B) 36° (B) 366
(C) 72° (C) 72°
GD')/ 108° (D) 1080
120. BJR 6@Q Bga 6MaT 98T 2 |120. Whi :
B o Whl.ch of the foIIOW1ng figures has
no line of symmetry ?
(A) ecieg ; ‘:SA) Square
(B) 219699 " (B) Rectangle
ANBAR @ |
CC/)/ wense (©) Parallel()gram
: 2]
(D) Q Q[ (D) RhOmbus
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12]. QI00Q 68 QUAER FNIIY eae B

122.

123.

124.

SR@ 696126 16 3 AIFeg gede
@EM | @ AIGTYT 669 gRIaa ?
(A) -

(B) gieee

(Cy ceeeR
(D) 991Aaa

Jee J80Q 699 6QIAIR VRIS a8
9906 QIR 69Q4I 6QISIRAN ?

(A) gRuIge
(B) Q4L
(C)Y ead Rdee

() 6QIsal 9g0

cQIBN F190E6a 9R% QIR A6
Qael 2 6Q.41. | 6d% IFRER ALY
1 - 15,00,000 6267 Q@ QT GHCQ
Qf Quea 99e GoC! 6@60 ?

(A) 1.5Q.8.

(B) 3.0 @.4.

(C) 15.0@.4.

Py 30.0@.4.

QIR10. YOR 1R 699 I8t 6] AUsa
2RUIRS ?

(M} FOGIQ FERYIAGE

(B) 8061 6R51R0E

() 21de 208

(D) @B-qE Qs

\\{1
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121. A teacher demonstrated an indus-

trial map in the class to teach
about the industries in India. What
type of map is it ?

(A) Topographical

(B) Physical

(C) Thematic

(D) Administrative

. Which stage of project prepara-

tion does inspire to take up
future projects ?

(A) Evaluation

(B) Functionality
(C) Recording facts
(D) Project planning

123. The distance between two places

on the map is 2 cm. If the R.F. of
the map is 1 : 15,00,000, what 18
the ground distance between the
two places ?

(A) 1.5km
(B) 3.0km
(C) 15.0km
(D) 30.0km

. On which principle is the local

sclf-government based ?

(A) Decentralization of power

(B) Centralization of power

(C) Economic growth

(D) Maintenance of Law and
Order

(Turn over)
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[25. QAT T 29916 QgOC Q0
c4i8e. INRee A6 6RIGaIe ?

S Qeen UIRaR g8 G098
(B) quienat
(C) 2IE 667N
(D) ARACQ 6FEFAN
126. QM 6QIg0Q QI8 :

(A) 2IRG6ET4 - 6911 GERIEGT

Qa’)/ 6ReR - @8I GERIEYA

(C) (3"@61!-— Q2101 GeRIOYA

(D) GINARIQ - K691 GERIGH
127. Q1902 JIGRINS 671g9a1 QI

FR89e 2097 KR9I §IQ 674 B9g
QRaN ?

W) Be-qd
(B) <86-0&¢
(C) <Re

(D) ofa

Join Us-' > f

125.

126.

127.
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whom does the President
dicial and legal opinion ag
provision of the Constity-

From
seek ju
per the
tion?

(A) Chief Justice of the Supreme

Court

Prime Minister

(B)
(©)
(D)

Find the incorrect pair out :

Attorney General

Solicitor General

(A) Andhra Pradesh — Godavari
delta

(B) Kerala— Krishna delta
(C) Odisha — Mahanadi delta
(D) Tamil Nadu — Kaveri delta

What is the direction of the

S
ummer monsoon blowing over

India before crossing the
€quator ?

(B) South-weg
(©) South

D) West
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N

128. 6905 78I a"aneq adga »

128. Which is contrary to soil consct-
(A) 6QIAIR QB vation ?
(B) QiQ1ede 8 (A) Terrace cultivation |
(C) ealees (B) Shifting cu.ltwahon
A~ (C) Afforestation
M@ Qﬁsgmgpa@ , (D) Reforestation
129. 664 95RGY6 6150 fdsw6a, @ieaal | 129. Which hydel project is function-
QM AU6Q AR 6298 ? ing on the river Kaveri in
(A) 6999 - Karnataka ? :
= (A) Metur
B) d&ed
(ﬂ) i (B) Sivasamudram
() (C) Shrisailam
(D) garagl (D) Tungabhadra
130. ‘@’ 9aca 2el geeie aie ag| 130. Match the industries in Column
‘¢’ gaq Aree d8q 6K Ox KaR ‘B’ with associated places 1n
ANeg QI8 : Column ‘A’ and select the correct
‘G‘, aa ‘%‘l, aa answer set .
Column ‘A’ Column ‘B’
(a) Q& (1) 6QR @@:9 (2) Ranchi @ Locomotives
(b) @8IICIGEll (g) guie w1l (b) Vishakhapatnam (i)) Tank making
(c) 2Ie@ (jyreni=e i (© Avdi (iil) Motor car
(d)Geage  (iv) 6221 LQ (d) Chittaranjan (i) Heavy
AT g e
p Electricals
(v) @I2Ie a8 (v) Shipbuilding
(A) (@) - (iv); (b) - (v); (©) - (i) (A) (a) - (iv); (b) - (v); (e) - (iii);
(d) - (1) (d) - (1)
B) (a) - (iv); (b) - (V): (©) - (ii); (B) (a) - (iv); (b) - (v): (¢) - (10);
(d) - (i) (d)-0)
(C) (a) - (iid); (b) - (V); (c) - (i1); (©) (a) - (iii); (b) - (v); (¢) - (ii);
d) - (0 (-0
@ (Vi 0 (@@ O @) (v); (©) - (ii);
AR (d)- (i) -
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2 seaigeea | 131. Who did paruclpdt_e fr(;{‘o(imhd
o ISSZT‘Q%QQ'Z%EZQO | -1 the Great Indian Revolt of
Q°gIF11 2°EGLE) ;

18577
(&) QT o (A) Buxi Jagabandhu
(B) qdade (B) Kuanr Singh
f@{; 9;159@ QI (C) Surendra Sai
(D) 2gé foe (D) Laxman Nayak
132. gain Q9Q® 06a areas 9a@iq 6@ | 132. To which Indian did the British
VAL “PIRFA-Q-2Q” QUIER Government adorn with the title
98¢ *aeem ? “Kaizar-i-Hind” after the First
World War ?
Ay aQie QI

(A) ‘Mahatma Gandhi

(B) eQIeonim 6562g
(B) Jawaharlal Nehru

(C) Q9Q RLNIR A6TR
(C) Sardar Ballabhbhaj Patel

D) qgge aq a9
(D) 0y (D) MuhammadAliJinnah

133. 606 210960 916096 QIoay Qi uegl | 133. In which Act was there the pro-

2R ? vision for proyincia] autonomy ?
(A) @0edg 21 1892 (A) Councils Act, 1892

(B) 9199 6196 2I8] 1905 (B) Govt. of Ingj, Act, 1905
4(0)/@190 A% 21AK, 1935 (©) Govt. of India Act, 1935

(D) @eeQgaig 1909 D) COUncilAct, 05

SET-B - (561

Join Us-' g f
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3 "I
134. ARG QY Q%o gag ARGG O
NS " OR | 134, Which is not correct method in
B black-board work ?
A ‘} ; C VOl § ‘
(A) daa QI&?@Q@Q@QGQ CAYS! (A) Teacher to write down 1n
(B) u;"@q&@@ AER Qe P— bold-lectters clearly
QYS! (B) To maintain equal distance
between lines
() 6RYQl Qserase ¢ Ae AR (C) To crasc quickly without
6QQ reading
(D) 6RYL AN06a 06 gasa adq! ) ]0.? ad lofiigg! Pygie of
R - writing
133, @qu AUIANIER ‘R0Re’'Q @aeig | 135. Why is the use of myth done with
2% QI?&MQQ ALE YA QIFS 2 utmost care in the teaching of
(A) 926 A040I0 0RAIQ Histog N
SIeie e (A) Thereis little truth in it
(B) <91 AIINEQ g0 AGEI ROLI9R (B) Actual facts are presented
QAUQAI through it
(Q‘)/{l@l e ARt oo o (C) Thqre is historical truth
R | behind it
. (D) w2 QoY RIS | (D) It is based on truth
136. 62Q0 AT QU Q6L ? 136. Which one is not a vector
(A) odees quantity ?
(A) Velocity
(B) Q°699
(B). Momentum
(C) 96161 (C) Acceleration
(D’)/GQG} (D) Speed
137. ) 0.25 QR9IRR 1@ JIaR A Y 137. Madhu kept a rice bag of 0.25
150 cm Q018 % 8 QJ6a agml | ?;I(l)rltal on his head lifting it
. . from the ground. H
“QIGe QITY 6968 GR s g D%
9 6539.6@“? 2 o2 i much joule of work is done in this
6@ ? (g=10m/s?) case ? (=10 m/s?)
(A) 375 (A) 37.5
(B) 375 (B) 375
© 3% | e
a6al6 e cl6aa g6e (D) None of the above

o e F L PR
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; " of matter does
138. geida 6e@ 94 Yela 29al aaea | 138. Which property sy
Soia Q6@ AI1F ? not depend on 1ts 5 '

(A) Volume

(A) 2GR _
(B) QIge! (B) Density
©) % | (€} Mass
139. (a) Q&xa cige anle aid g |13%-@ P lastics are a gift to S,
' . (b) Plastics are a curse to man-
QIR 216G | | o X | |
(b) G8QQ AIRS AAIS AN IR (c) Putting the plastics wastes in
218419 26S | a pit and covering it by soil

is an environment-friendly

(c) UeeRial QAR QANgGIgea step instead of burning those

601G TRRER AITER 6aI 60

- wastes.
Autof Ty d9eHH 263 | (A) (a) and (b) are correct and
a) 6 (b) 0% ¥&° (¢ (c) is wrong -
‘A/)/( ) _( MR @) (B) (a)is correct and (b) and (c)
(B) (a) 0= " (b) 8 (c) AR are wrong
(@) 6 (c) OR <&* (b) QR (C) (a) and (c) are correct and
) \ (b) is wrong
(D) (a), (b) 8 (c) OR (D) (a), (b) and (c) are correct
140. (a) i ggia @i1g6a g8 aariga | 140- (@) The air we breathe-in
BERIR 21 | contains traces of ozone.

(b) The oxides of nitrogen

b) QIQER QI RINECTIERR ; )
() 9 a4 : present 1n the air cause the

2QAINRYER 2F, dIa RIAE acid rain,
266 | (¢) The oxides of sulphur
(c) QIYER &SI ANCTIQ 2RQAINRYLR present in the air cause
26A16q1300 58 952G | @) ?a)n}age to the haemoglobin.
_ a) 1S co
(A) (2) 0 4" (b) 6 (c) QR arewrong - () and )
@) (b)0R e (c) 8 (2) @R tH) gr?: i:rr(;orrect and (c) and (a)
3 ovrong
(©) (c) 5% <& (2) 8 (b) @R ©) (©)is correct and (a) and (b)
are w
(D) (a), (b) 6 () AR D) (a), (by s
b Ll nd (¢) are wrong
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14]1. 62Q ag| QU I6RG2 Qudaia 7 | 141, Malaria spreads by which

(A) 2d8q 6RITRG mosquito ?
(A) Male Anopheles

(B) 2daq
e (B) Male Culex

({}}/q]a qeq@@g (C) Female Anopheles
(D) aaqienqq (D) Female Culex
142. 2191 99199 609 2erea gael aai@ | 142. In which organ of our body urea
4 ? is formed ?
(A) o« (A) Kidney
By a5 (B) Liver
(C) 6adn (C) Nephron
(D) aqyiae (D) Pancreas

143. Which one maintains the ionic

143. 6268 IGQ 491969 2108 AGRE 9
balance in the human body ?

@eQ ?

(A) 64021 (A) Carbohydrate
(B) 692219 (B) Fat

(C) Q&QiQ (C) Protein

(Di/é”QQIQ (D) Minerals

144. 608 69168 gO68UR 1R A°6TRAT 144. Preventive vaccine of which
. Q6@ GEIAN Qg ? disease is not given as injection ?

(A) Whooping cough |

(A) P2

- "(B) Polio
@y came
B (C) Tetanus
- el (D) Diphtheria
D)

[59] , (Turn over)
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145. Which one does not have satellite?

145. 60059 QUYL AR ?

(A) qem (A) Mars

B) (B) Mercury
(C) 6 (C) Saturn
(D) Qe (D) Jupiter

Which of the following could be
theme-based subject-matter for
Environmental studies ?

146. Q0694 2R QIR 7671 F12IQ 67w | 146.
Qu0Qg 29 -88@ (theme-based)
6LIRAIRQ ?

(A) 66RIR AR (A) Ozone hole

(B) Acidrain

(B) 299’
g\c)/ éingsa (C) Airpollution
(D) @aeal8 ang (D) All the above

147. 98694 q°€1§@ goim 299@ a6qie [147. In which of the following
ARIQ 6R% Q806 AAFAR ? methods there is

) possibility of
direct experience ? '

(A) Q6QBé
. (A) Survey
(B) 69ga%gnea
(B) Field-trip
(C) go%
gl ) Projest
QUEAS ALY
(D) All the aboVC
CET_R r£na
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148. (a) 91909 Adcey QA1 Yeaeg

149.

150.
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JQIRQIER60 AT 064

QE‘@ Q2-QR0 Qg of QIR
Qo0 |

(b) QaEe adeey QAR SR

ULIRNE6R QIghe cteas ole
d€-QnR 8l @@ agiael
Q90 |

(A) (2) @ 2Iegias 28 1 (b) @

2R FIE
(B) (b) @ &Iesuasl 28 ve° (a)

G/’Js@@q@m QR
) Q9@ (a) 99° (b) @ ISSNRC!
2R

(D) @ua (a) 9e° (b) @ 2R
QIR

QRIR FVQP-TFE RIIFAER 76TIS

121G QA 2IGHIR 621R FUN ?

(A) QAR RUISE
(B) fQe0@e gmiae
(C) Q0Raa gmilae
(D) QFge gmilae

aGices 2ae a6 agy6eaél

ARG QI 6QINIRGER 6208 -

(A) odisena, o2y G648e), oo

Qge 8 818

By eay 2792, adyeead, oal
Scqaé 6 AR

(Q{Cﬁ%@s&&, QoY age, o
acqaé @ AT

(D) QUeIs 1Y 6R613G g6e
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148.

149.

150.

(a) While teaching about the

natural environment correla-
tion is to be established with
the social environment.
While teaching about the
social environment correla-
tion is to be established with
the natural environment.

(a) is essential and (b) is not
essential

(b) is essential and (a) 1s not
essential

Both (a) and (b) are
essential

Both (a) and (b) are not
essential

Which one of the following is not
required in the teaching-learning
process of science ?

(A) Placement evaluation

(B) Diagnostic evaluation

(C) Formative evaluation

(D) Summative evaluation

The sequential steps of observa-
tion-method relating to Environ-
mental studies are —

(A) Observation, analysis of
data, collection of 'data and
inference

Collection of data, observa-
tion, analysis of data and
inference

Observation, collection of
data, analysis of data and
inference

(D) None of the above
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